CONCEPTUAL TOOLS By: Neil E. Cotter CIRCUITS

CONSISTENCY CHECKS
Example 2

EXx:

The expression for current i is the following:

. . va
lS=la—(OC+1)R—.

2

Make at least one consistency check (other than a units check) on this expression.

Explain the consistency check clearly.

SOL'N:

l"lcmy consistency checks are possible.
The tdea (s +to pick component values
that make the circuit so simple that
we can  solve (E by inspection.

One example (s to eliminate current
Sources:

Let Lq=0/4 and =0:
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Rz
Vq ] —_
g -
We have 1g= L, = — Vq.
Rz
Now we verify <that our egh From (a)
agrees:
tg = 0—(0+1) Vg = -vq ¥
Rz R

Ansther example is 4o set vz=o0V, «=0.

TAel’\ (Ls = Lq- our eﬁ;') yil/es Z:sz (:q —CO+I)‘Q=24-,/
Rz



